A nell aslonll
Wil patadly dusbsll dusdl 5,138 .
1€ wnalall cuoully 20V GysSis :
1 Guiosll a2l gllas

esSally il a9l duaysisYI
as,s awls ywgaw ag>

1
2 ‘ A>g0ll Sgpxdl VoVl
SalacYl bl 83lguis Jaid
£ T 2006 guigs : 6,95
3 idalad| ol 5elis s Dl s el W Y N I
.__9;__:_634;_“.:. Sawanl] (Jlexio]
2% - 3y = ¥ : jdﬁiwﬂ Sl
hx + g =15 NI R PR | WA Y 2
e ) ooapad [ A35 5,5
3 =3 -2 v Sam § 3TN 31001 42es

S {61 EREVIT R4 BN 0,5
T )kl Judali(a) ) o leasis B(S L 3) 5 A (0,2) 1EA Ja

B TA) &A.;__,%L__;_AJ\'L@;@: 3k AN o -2
(0,1,7) plaall el ob g Lilase e TP ™

LG B Lha (o b
Ay S ) PRNEPORN | B IV A

b——olain clan o0 D35 A5 C(2,4) 5 B(4,-2) 5A(-1,3) 21
(0,1,3) oXiaa

AR Batadl, ABEdat) i) ol a

1,5
[AB) GoSia T RAIN Suslha] £4a -2 1
- ABC CliN dmud aSitw), C1o % o) Ba3a3 3l 15

D el N eoyedl [Ass 25
S—alia | e BC=4 , AB=2 Juay A e au, )yl pils Sl ABC

AT ladeass 1 3af58 £ [8c)

TL Y AT s alecf 2| 28
AL EE A D LLL Ll g
eV g tiate BDS N3 G EEE 2| 1




o90)1
s £ 90 50

V)

===

3 : gamadll| el ¢ Al Baad

il 2 e l:[)—-“ : salall

 NBNE oy lned £5555 T 0 20 e 41 058
1%, - 38, - 30 == Qo= AT o 2% 2y - 28 30,
2 - 28, 23, 3 - 1§ - 3, - 18,- 23 - 24, 2%,

2552 2 loayl sdesluisd) Jé-el e load] Jaad) o o2 -2
6] B ymiadl M e fha o b bl dobe B yiin Y yalpe Ga3l
e ) RS los 1 3luliasall Jfa) e bead) Jhaadl & Sale

L0 33l s 231 ABCD dl B Lels o

DA =58 ?5C=5D:5 9 AB = 3V2 aos
NI oMy 50 83, o} e -4
[sc) 5 (3BT sEsAtpsh a ) o in Dol g N (D1 -2
; :_—:_J\\j_—‘*-“ e [5D] 5
. ABCDABCD ptomall eos Coian)

WO | PRGN | B IV, S e
Glossal] Jabs Bl -4 4
1
! -3 |
; ok Lo} oyanll | D353
Diis 0 ya SABCD
1




